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> ArE A ZT R - BANGEIL hT oA

BE D REDFRFTDPEER

> % ¥c.

int number_of_students=5;

int scorel, score2, score3, score4, score5;
double sum, average;

> I S
scanf("%d%d%d%d%d", &scorel, &score2, &score3,

> 4r ik &scored, &scoreb);
sum = scorel + score2 + score3 + score4 + scoreb5;

P B
average = sum / number_of_students;

> o i
printf("L 2= & 5 %f\n", average);

> drdk FE * IRE- S score## R, LA RJIE- FFL70R X v ?

1




EAF R T PR B
> Rk

int i, number_of_students=5;
Int score;
double sum=0., average;

> 1% [§]
Eor (i=0; i<number_of_students; i++)

> G B
scanf("%d", &score);

sum = sum + score;

average = sum / number_of_students;
> ia
printf(" L 1352 % 5 %f\n", average);

n
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i3z VS, ﬁftﬁ VS. B

> %
int i, number_of _students=5;
int score;
double sum=0., average, sumsqg=0., variance;

> ... % - =i B3+ 5 sum, average ...
> § - =ik [
for (i=0; i<number_of_students; i++)
{
» - R o~
scanf("%d", &score);
sumsqg += (score-average)*(score-average);

}

variance = sumsq / (number_of_students-1);

>11ﬁ?.]>~—- Z 3 = g1 2 gewl Copylpaste i 7 4 %




i4x Vs, % VS, o R
> %K

int i, number_of_students=5, score;
FILE *infile;
double sum=0., average, sumsg=0., variance;

infile = fopen("data L, r);
% - Rk Bl Ak B, 3t & sum, average ...

| rewind(infile); /* £ #7&sw 4§ & A= 4 */
for (i=0; i<number_of_students; i++) { /*% = =t = @] */

> FhRE R
fscanf(infile, "%d", &score);

sumsq += (score-average)*(score-average);

}

variance = sumsq / (number_of_students-1);
fclose(infile); A =D B
> - B, VAT iR MR, ok RE AR




iz VS, X VS, s B
) . |SEBIFTE, HEBEE
i P AGB/BGE e R, | pmim ey 1 75 3 AR ROB R
%Iiﬁl number of stud BRSO, Ak
Int |, T SUA (sp 540 — (#8%0/n)2) / (n-1)

Idn(’:usbclxe) rsi[n?];o avera RILE, XA-FEZERMEST!

> & - =ik B B, 3t

BRINREF P2 (median)

for (i=0; i<number_ 0L e ? IR EHLFT A EXHFIEFIE?

scanf("%d", &scorE[I] T;

dl— AN Z (S| — S 2
sum = SCOi GLIJ, =1

) n-1

average = sum / number_of_students;
> % A Bld sfa e B H
for (i=0; i<number_of_students; i++)
sumsq += (score[i]-average)*(score[i]-average);
variance = sumsq / (number_of_students-1);




L .2
E g A W[eg?
> T pavgds 3B B 1000 =2
A @ 0.05~0.1 #c#y(us)/Byte
'aor%@ 0.1~1 2z #(ns)/Byte
B RN, B - BEHETRER

R RN TREE '1 EFREREE

0 d WEMOR RSN BARN AT F AR 3B A
A 8 B B (W&s«ﬂﬁ‘im‘?# |7 - )
R R (MEREAER)
W Bl Aol 5 B 47 PP =
blder £ 5, ¢ #k, 2iEdE, Z) n130 @l iFg




HREEE 2R [T LR RS

> % #ix scorel, score2, score3, ... 3 1p fp hgFE
a4 e B A, e.g. int
Qe I E LR 5 4p e i, e.g. 0~100
QREGFOTHREF - RehF K, e.0. * 4

QEEF T RN R GREE e, g ., scanf, +, *
0 g EOE M R & - A2, €.9. TF S S0t i
> & 00 TR enfR N Ay }a [ fwﬁl“:‘_i*v/i 2 7 e i g
7L (scalable), =2 & & * 7| 32
> 4 & ¢ el 7)) book pages, bus numbers,

—




> e B E_ M7 e r’ﬁ E?ﬁ%ﬁﬂfﬁﬁ{
double x[8];

>hriwid ¥ P B R F?
o e.g. x[0], x[i+1], ...




HEEY T

double x[8];

—REZE 8 [EEE

x[0] x[1] x[2] x[3] x[4] x[5] x[6] x[/]
16.0|12.0| 6.0 | 8.0 | 25 | 12.0|14.0 |-54.5

Array X

Statement Explanation
printf("%.1f", x[0]); Displays the value of x[0], which is 16.0
x[3] = 25.0; Stores the value 25.0 in x[3]

sum = x[0] + x[1]; _Stores t_he sum o_f x[0] and x[1], which
is 28.0 in the variable sum

sum += x[2]; Adds x[2] to sum. The new sum is 34.0
x[3] += 1.0; Add 1.0 to x[3]. The new x[3] is 26.0

x[2] = x[0] + x[1]; Stores the sum of x[0] and x[1] in x[2].
The new x[2] is 28.0




element-type array_nhame[size];
N

C99 Z #f-.

s BER EEHUER

#define A_SIZE 5
double a[A_SIZE];

> Example: ("7 2 & 11 2 4= 45 0)
char vowels[] = {'A’, 'E', 'T', '0', 'U'};
A
char vowels[5] = {'A', 'E', 'T', 'O', 'U'};




